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tp_m-tp_t {(abs(tp_m-tp_t)<3.&&((pep/bcalep<1.240900&&pep/bcalep>0.859300&&bcalep>0&&pbcalep*sin(thep)>0.030000)||(pep/fcalep<1.219700&&pep/fcalep>0.928700&&fcalep>0))&&((pem/bcalem<1.240900&&pem/bcalem>0.859300&&bcalem>0&&pbcalem*sin(them)>0.030000)||(pem/fcalem<1.219700&&pem/fcalem>0.928700&&fcalem>0))&&chi2>0&&chi2<5000.000000&&ebeam>8.2&&(them>0.034907&&thep>0.034907)&&abs(sqrt(0.880354+0.019480+2.*sqrt(pp_m*pp_m+0.880354)*sqrt(pep_m*pep_m+0.019480)-2.*pp_m*pep_m*cos(thp_m+thep_m))-1.232)>0.000000&&abs(sqrt(0.880354+0.019480+2.*sqrt(pp_m*pp_m+0.880354)*sqrt(pem_m*pem_m+0.019480)-2.*pp_m*pem_m*cos(thp_m+them_m))-1.232)>0.000000&&pp>0.400000&&pep>0.400000&&pem>0.400000&&abs(Theta-90.)<90.000000)*((abs(trf-tbeam)<(2.*(run_no<11569||run_no>11663)+1.*(run_no>11568&&run_no<11664)))-(abs(trf-tbeam)>=(2.*(run_no<11569||run_no>11663)+1.*(run_no>11568&&run_no<11664))&&abs(trf-tbeam)<(14.*(run_no<11569||run_no>11663)+7.*(run_no>11568&&run_no<11664)))*1./6.)}
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